oz # TANE

®6 WXASILMEBREMEANR (Bifi7 - 55/ m0)
X5 4 A 5 A 6 A 7 A
H#h X =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= &i =34 =10.4| =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= & =3.4 =10.4[ =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= &HF =3.4 =10.4| =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= &&F =3.4 =10.4
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B ¥ 94.3 5.7 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 94.3 3.9 0.9 0.9 1000 98.2  99.1|100.0 100.0 100.0 100.0
o S| 89.2 3.0 2.6 5.2 100.0 92.2 100.0 | 95.1 4.9 100.0 95.1 100.0 | 97.5 2.5 100.0 97.5 100.0 | 97.5 2.5 100.0 100.0 100.0
£ 99.2 0.8 0.0 100.0 100.0 100.0 | 98.8 1.2 100.0 100.0 100.0 | 97.9 1.4 0.4 0.3 100.0 99.3 100.0 | 99.3 0.7 0.0 100.0 100.0 100.0
% & 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
% W 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 97.6 2.4 100.0 97.6 100.0 | 100.0 100.0 100.0 100.0
E B 99.0 1.0 100.0 100.0 100.0 | 98.8 1.2 100.0 100.0 100.0 | 97.9 2.1 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
B iR 100.0 100.0 100.0 100.0 | 98.8 1.2 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 95.3 3.9 0.8 1000 99.2 100.0
ISIr=3 98.9 1.1 100.0 98.9 100.0 | 100.0 100.0 100.0 100.0 | 98.1 1.9 100.0 100.0 100.0 | 99.1 0.9 100.0 100.0 100.0
+ B 99.2 0.6 0.2 100.0 99.8 100.0 | 98.8 1.0 0.2 0.1 1000 99.8 100.0 | 99.0 0.8 0.1 0.1 1000 99.8 100.0 | 98.2 1.5 0.2 0.1 1000 99.7 100.0
8l % 98.5 1.2 0.3 100.0 99.7 100.0 | 99.0 1.0 100.0 100.0 100.0 | 99.1 0.8 0.1 1000 99.9 100.0 | 98.7 1.1 0.2 1000 99.8 100.0
B =E 97.2 2.3 0.3 0.3 100.0 99.5 100.0 | 98.4 1.3 0.1 0.2 1000 99.7 100.0 | 98.6 1.1 0.1 0.2 1000 99.7 100.0 | 97.7 2.1 0.2 1000 99.8 100.0
M E 98.9 0.9 0.1 0.1 100.0 99.8 100.0 | 98.8 0.8 0.1 0.1 0.1 1000 99.6 99.9| 98.7 0.9 0.5 1000 99.5 100.0 | 98.6 1.2 0.1 0.1 1000 99.8 100.0
= B 99.0 1.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
2 96.9 2.3 0.8 100.0 99.2 100.0 | 93.3 3.7 2.4 0.7 1000 97.0 100.0 | 97.9 2.1 100.0 100.0 100.0 | 97.8 2.2 100.0 100.0 100.0
F iy 98.5 1.2 0.2 0.1 100.0 99.7 100.0 | 98.7 1.0 0.1 0.1 0.0 1000 99.7 1000 | 988 0.9 0.1 0.1 0.0 100.0 99.7 100.0 | 985 1.4 0.1 0.1 100.0 99.8 100.0
QTHERE ] 98.6 1.0 0.1 0.2 0.0 1000 99.6 100.0 | 98.9 0.9 0.1 0.1 0.0 1000 99.8 100.0 | 98.6 1.0 0.1 0.2 0.1 1000 99.6 99.9| 98.5 1.1 0.2 0.2 0.0 1000 99.6 100.0
264EFE ] 99.0 0.6 0.2 0.1 0.0 1000  99.7 100.0 | 99.0 0.7 0.0 0.1 0.0 1000 99.8 100.0 | 98.5 1.1 0.2 0.1 0.0 0.0 100.0 99.6 99.9| 98.3 1.2 0.2 0.2 0.0 1000 99.6 100.0
X5 8H 9 A 10 A 11 A

HX <14 ~34 ~54 ~104 ~204 2055 BF <34 =104| <14 ~34 ~54 ~104 ~204 2055 AF <34 =104| <14 ~34 ~54 ~104 ~204 2055 AF =34 =<104| <14 ~34 ~54 ~104 ~204 2055 AFH =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B ¥ 95.2 4.8 100.0 100.0 100.0 | 97.1 1.8 1.1 1000 98.9 100.0 | 97.3 2.7 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
o S| 91.1 2.8 3.3 2.6 0.2 100.0 93.9 99.8| 92.5 7.5 100.0 92.5 100.0 |100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
£ 97.9 1.7 0.4 100.0 99.6 100.0 | 97.8 1.7 0.5 1000 99.5 100.0 | 98.8 1.2 100.0 100.0 100.0 | 98.3 1.7 100.0 100.0 100.0
% & 97.2 2.8 100.0 100.0 100.0 | 99.9 0.1 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 94.7 5.3 1000 94.7 100.0
% W 97.9 2.1 100.0 100.0 100.0 | 97.9 2.1 100.0 100.0 100.0 | 98.0 2.0 100.0 100.0 100.0 | 97.7 2.3 100.0 100.0 100.0
E B 97.7 2.3 100.0 100.0 100.0 | 98.6 1.4 100.0 100.0 100.0 | 100.0 0.0 100.0 100.0 100.0 | 97.7 1.6 0.7 1000 99.3 100.0
B ir 98.8 1.1 0.0 100.0 100.0 100.0 | 100.0 0.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 97.4 2.6 100.0 100.0 100.0
ISIr=3 100.0 100.0 100.0 100.0 | 99.0 1.0 100.0 99.0 100.0 | 98.1 1.9 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
+ B 98.4 1.4 0.1 0.1 100.0 99.8 100.0 | 97.7 1.9 0.2 0.2 0.1 1000 99.6 99.9| 98.9 0.8 0.1 0.1 1000 99.7 100.0 | 99.2 0.7 0.1 0.0 1000 99.9 100.0
o] -3 96.9 2.5 0.4 0.3 100.0 99.4 100.0 | 98.7 0.4 0.5 0.3 0.1 1000  99.1 99.9| 99.0 0.9 0.1 1000 99.9 100.0 | 98.9 0.7 0.4 1000 99.6 100.0
B =E 97.9 1.3 0.5 0.2 0.1 1000 99.2 99.9| 98.5 1.5 0.1 1000 99.9 100.0 | 98.7 1.1 0.2 1000 99.8 100.0 | 99.0 0.7 0.1 0.2 1000 99.7 99.8
M E 96.5 2.8 0.6 0.1 100.0 99.3 100.0 | 98.1 1.5 0.3 0.0 0.1 0.0 100.0 99.6 99.9| 99.4 0.2 0.2 0.2 1000 99.6 100.0 | 98.5 0.9 0.5 0.1 0.0 1000 99.4 100.0
= B 99.5 0.5 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 99.5 0.5 100.0 100.0 100.0 | 99.5 0.5 100.0 100.0 100.0
2 95.9 4.1 100.0 100.0 100.0 | 97.1 2.3 0.7 1000 99.3 100.0 | 99.3 0.7 100.0 100.0 100.0 | 97.0 3.0 100.0 100.0 100.0
F 15y 97.7 1.8 0.3 0.1 0.0 100.0 995 100.0| 983 1.3 0.2 0.2 0.0 00 1000 996 100.0| 99.0 0.8 0.1 0.1 0.0 100.0 998 100.0| 989 0.8 0.2 0.0 0.1 100.0 99.7 999
QTHERESEY 98.5 1.2 0.2 0.1 0.0 1000 99.7 100.0 | 98.8 0.9 0.2 0.1 0.0 0.0 100.0 99.7 100.0 | 99.1 0.6 0.1 0.1 0.0 1000  99.7 100.0 | 99.0 0.8 0.2 0.0 1000 99.8 100.0
264EFE L 98.3 1.2 0.2 0.2 0.0 0.0 100.0 99.6 100.0| 98.7 1.0 0.2 0.1 0.0 1000 99.7 100.0 | 98.6 1.1 0.2 0.1 0.0 1000 99.7 100.0 | 98.7 1.1 0.1 0.1 1000 99.8 100.0




(B2 7/ me)

X5 12 A 1 A 2 R 3 A
X <14 ~34 ~54 ~104 ~204 205= &F =34 =104| =14 ~34 ~54 ~104 ~204 205= AFt =34 =104| =14 ~34 ~54 ~104 ~204 205= &i =34 =104| =14 ~34 ~54 ~104 ~204 205= &t =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B 98.2 1.8 1000 100.0 100.0 |100.0 1000 100.0 100.0 [ 96.6 3.4 100.0 100.0 100.0 | 98.0 2.0 100.0 100.0 100.0
ZZ &1 |100.0 100.0 100.0 100.0 | 100.0 1000 100.0 100.0 [ 97.8 2.2 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
=] 97.0 2.0 0.0 0.9 1000 99.1 100.0 [ 95.8 3.8 0.4 1000 99.6 100.0| 94.8 45 0.7 1000 99.3 100.0| 97.6 2.0 0.5 1000 99.5 100.0
% X 99.9 0.1 1000 100.0 100.0 |100.0 1000 100.0 100.0 |100.0 1000 100.0 100.0 |100.0 1000 100.0 100.0
¥ W 92.2 23 3.1 24 1000 94.4 100.0 [ 94.9 5.1 100.0 100.0 100.0 | 95.9 4.1 100.0 100.0 100.0 | 94.7 5.3 100.0 100.0 100.0
E B 99.4 0.6 1000 100.0 100.0 [ 99.9 0.1 1000  99.9 100.0 [ 98.7 1.3 1000 98.7 100.0 [ 98.3 1.7 100.0 100.0 100.0
B iR 97.6 1.1 1.3 1000 98.7 100.0 |100.0 1000 100.0 100.0 [ 97.4 2.6 100.0 100.0 100.0 | 98.8 1.2 100.0 100.0 100.0
B & 96.7 3.3 1000 100.0 100.0 [ 98.8 1.2 100.0 100.0 100.0 | 99.1 0.9 100.0 100.0 100.0 | 98.8 1.2 0.0 1000 98.8 100.0
+ B 99.1 0.8 0.0 1000 100.0 100.0 [ 99.0 05 02 01 0.2 1000 99.5 99.8] 99.0 09 0.1 0.1 1000 99.9 99.9] 99.0 0.7 0.1 0.2 1000 99.7 99.8
oS 985 1.3 0.1 0.1 1000 99.7 100.0 [ 97.9 1.7 0.2 0.2 1000 99.6 100.0| 98.9 1.1 100.0 100.0 100.0| 98.1 1.8 0.1 1000  99.9 100.0
B = 98.6 1.0 0.1 0.3 1000 99.6 100.0 [ 99.2 0.8 100.0 100.0 100.0| 98.8 1.0 0.1 0.1 1000 99.8 100.0| 98.7 1.1 0.1 0.1 100.0 99.8 100.0
H E 97.1 2.2 03 0.4 1000 99.3 100.0 [ 99.2 0.6 0.3 1000 99.7 100.0| 98.1 1.6 0.1 0.1 1000 99.7 100.0| 984 1.2 01 0.1 0.2 1000  99.6 99.8
= B 99.7 0.3 1000 100.0 100.0 [ 99.2 0.5 0.3 1000 99.7 100.0| 99.5 0.5 100.0 100.0 100.0| 99.0 0.8 0.2 1000  99.8 100.0
2 8 9.6 2.8 0.7 1000 99.3 100.0 [ 96.9 1.8 1.3 1000 98.7 100.0| 98.0 2.0 1000 100.0 100.0 | 97.2 2.8 100.0 100.0 100.0
E 1y 984 12 01 02 1000 997 1000| 988 09 02 00 01 1000 997 999 986 12 01 00 00 1000 998 1000| 986 12 01 00 01 1000 99.7  99.9
QTAEPEH 987 1.0 0.1 0.1 0.0 1000 99.8 100.0 | 98.8 0.9 0.2 0.2 1000 99.7 100.0| 99.0 0.8 0.1 0.1 1000 99.7 100.0] 989 09 01 0.1 0.0 100.0  99.8 100.0
264EEH 986 1.1 0.1 0.1 0.0 1000 99.7 100.0| 98.4 1.3 02 0.2 0.0 1000 99.7 100.0| 98.7 1.1 0.1 0.1 0.0 1000 99.8 100.0| 98.5 1.2 02 0.1 100.0  99.8 100.0
X5 *F #9(4A~3A8) 5 ZRIEEERBERURILL)
X <14 ~34 ~54 ~104 ~204 205= AF =34 =104 =14 =34
% % % % % % % % % % %
B 97.6 2.2 0.2 0.1 1000  99.8  99.9 98.7 (-1.2) 99.4 (0.3)
£ 96.7 09 07 17 0.0 1000 97.6 100.0 98.4 (-1.7) 99.6 (-2.0)
=] 97.8 1.9 02 0.1 1000  99.7 100.0 97.8 (-0.1) 99.5 (0.1)
® B 99.3 0.2 0.4 1000 99.6 100.0 99.2 (0.1 99.7 (-0.1)
¥ W 97.3 2.0 0.5 0.2 1000  99.3 100.0 100.0 (-2.7) 100.0 (-0.7)
E B 98.8 1.0 0.1 0.1 0.0 1000  99.8 100.0 98.5 (0.3) 99.8 (0.1)
B iR 98.7 1.2 0.1 0.1 1000  99.8 100.0 99.1 (-0.4) 99.8 (0.1)
B & 98.9 0.8 02 0.1 1000  99.7 100.0 99.0 (-0.1) 99.7 (0.1)
+ B 98.8 1.0 0.1 0.1 0.0 1000  99.8 100.0 99.0 (-0.2) 99.7 (0.0)
8l B8 985 1.2 02 0.1 0.0 1000  99.7 100.0 98.4 (0.1) 99.5 (0.2)
B =E 984 1.3 0.1 0.1 0.0 1000 99.7 100.0 98.9 (-0.4) 99.7 (0.0)
H E 984 1.2 02 0.2 0.0 0.0 1000 99.6 100.0 98.6 (-0.2) 99.8 (-0.2)
= B 99.6 0.4 0.0 1000 100.0 100.0 99.6 (0.0) 99.9 (0.1)
2 8 97.0 25 05 0.1 1000 99.5 100.0 98.2 (-1.2) 99.5 (0.0)
E 1y 986 11 02 01 00 00 1000 99.7 1000 98.8 (-0.2) 99.7 (0.0)
QTAEFEY 988 09 0.1 0.1 0.0 0.0 1000 99.7 100.0
264 986 1.1 0.2 0.1 0.0 0.0 1000 99.7 100.0




	表６

